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1.   
 

1.1.  
 

,  
, , , -

. 
,  

, . -
: , -

, .  
, , ,  

. 
-
-

,  .  
  (  

)   ( -
). 

 
: , , , 

, , . . 
-

:  
1) ;  
2) ;  
3) ;  
4) ; 
5) ;  
6) . 

 ,  
 

. -
-

,  

                                   
p

i
i m

m
 

, %, 

                               100(%)
p

i
i m

m
, 



 

5 

 i –  i; 
      mi –  i, ; 
      mp – , . 

,  , , 
 100 -

. 
 

: 
                                    ,pp Vm  

  – , ; 
     Vp – , . 

 ,  
 ( ) -

 ( ).  
 

                                 ,
ji

i
i nn

nN  

 Ni –  i; 
      ni –  i, ; 
      nj –  j, . 

 
.  1. 

                                    1iN . 
 ( ) -

: 

                                        ,
i

i
i M

mn  

 mi –  i, ; 
      i –  i, . 

 (  ) , -
 ( )  1  

.  

                                       ,,
p

i
i V

nC  , 

 C ,i –  i; 



 

6 

      ni –  i, ; 
      Vp – , . 

, , HCl = 0,1   0,1   HCl. 
 (  -

,  ) ,  
 1 -

.  
 

                                        ,,
,

p

i
i V

n
C  , 

 C ,i –  ( -
)  i; 

       n ,i –  i, ; 
       Vp – , . 

, , HCl = 0,1   0,1   HCl. 
-

 

                                       ,
,

,
i

i
i M

m
n  

 mi –  i, ; 
      ,i –  i, . 

 
: 

                               ,,,
i

i
iii Z

MMfM  

 i –  i, ; 
      f ,i –  – , ,  

 ( , , .) -
 i  1 .  

i
i Z

f 1
, ; 

      Zi –  – , , -
 i -

 i;  



 

7 

 
) ,  

Zi = ( )×( ) = 
= ( )×( ). 

,  Na3PO4  Na+  1,  
 3,  

313
43PONaZ , 

3
1

43, PONaf . 

 ( ) , 
 ( )  

1 .   

                                 ,,
s

i
im m

nC  , 

 Cm,i –  i; 
       ni –  i, ; 
       ms – , . 

, m, HCl = 0,1   0,1 m  HCl. 
,  

 1 .   

                                        ,
p

i
i V

mT  , 

 i –  i; 
      mi –  i, ; 
      Vp – , . 

 
. -

 
 (  

),  
-

. 
, -

, , 
 1  (1000 ),  – -

,  1 ,  –  100 , 



 

8 

 – -
, . 

,  
,  

.  
 Z ( -

) .  
. 

                                 iii ZCC ,, . 

,  HCl, -
, -

 ( . Zi = 1),  
.  CaCl2, H2SO4 ,  

 2 , -
 ( . Zi = 2),  

 2 , . 
-
-

. 
 ,  

. 
 

 1.1 
 3  (H3PO4) (  

 3 ) -
 1,1 , 

, -
, . 

 
  

  
3

43, . ,  1 -

 3 . , 
  

                                                  1 1000pV . 
:  

                mp; 
43, POHn ; 

43POHm ; OHPOHOH nnm
2432

;; . 
1. ,  

                                 1000 1,1 1100p pm V . 
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2. -
,  

 

                              ,43

43

,
,

pV
n

C  

                 313
4343 ,, pPOH VCn . 

3. ,  
 

                    ,
434343 ,, POHPOHPOH Mnm  

 667,32
3
98

13
4163131

43

43

43,
POH

POH
POH Z

M
M , 

                      98667,323
43POHm . 

4.  ( ),  
 

                       ,
243 OHPOHp mmm  

 
  1002981100

432 POHpOH mmm  = 1,002 . 
5.  ( ) -

 

                      1
3
3

43

43

43

,

POH

POH
POH Z

n
n  

  – -
 

                      1
98
98

43

43

43
POH

POH
POH M

m
n . 

6.  ( ),  
 ( ) 

        667,55
18

1002
1621

1002

2

2

2
OH

OH
OH M

m
n . 

7. -
, -
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      1
1
143

43,
pV

n
C . 

 
:  

 (
43,C )  (

43POHZ ). 

  1
3
3

43

43

43

,
,

POH

H
M Z

C
C . 

       1
002,1
1

)(
,

2

43

43
OH

m m
n

C . 

       %.9,8100
1100

9810043

43
p

POH
POH m

m
 

       ;018,0
667,551

1

243

43

43
OHPOH

POH
POH nn

n
N  

  982,0
667,551

667,55

243

2

2
OHPOH

OH
OH nn

n
N  

 : 
  .982,0018,011

432 POHOH NN  

       098,0
1000

98

)(

43

43
p

POH
POH V

m
T . 

: 
3 4, 1 / ;C

3 4, 1 / ;C  

%;9,8
43POH ;018,0

43POHN ;982,0
2OHN

098,0
43POHT . 

 
: 

- ; 
- ; 
- ; 
- . 

,  
 – 
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.  
 ,  

 
, . ,  
, -

, . 
 

 1.2 
-

 (H2SO4)  96%  1,84 -
,  

500  1  (  
 1 )  1,1 . 

 
: 

1.  
, -

 

                                 ,42

42,
p

SOH
SOHM V

n
C  

 
              

2 4 2 4, 1 0,5 0,5 .H SO M H SO pn C V  
 ( )  

 
   

2 4 2 4 2 4
0,5 (1 2 32 16 4) 49H SO H SO H SOm n M . 

 

-
 

2 4 2 4
49H SO H SOm m . 

2. , 
 49 . 

                               ,10042

42
p

SOH
SOH m

m
 

 

                 2 4

2 4

49100 100 51,042
96

H SO
p

H SO

m
m . 
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3. , -
. 

                       
51,042 27,740
1,84

p
p

m
V . 

4.  
,  

                                  ,
2 ppOH mmm  

 
                     500 1,1 550 ,p pm V  

 
                      

2
550 51,042 498,958H Om . 

,  
 

         2

2

2

498,958 498,958 499 .
1

H O
H O

H O

m
V  

: -
 1  500  

499  27,74 -
 H2SO4  96%. 

 
-
. 

 : 
1)  ( ) ; 
2) . 

 
:  

) , -
,  

 ( ) -
, . -

 ( ) , -
, . 

 -
, , 

.  : -
, -

. , , ,  0,3 -
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 BaCl2  0,3  AgNO3,  
 0,3  AgCl. 

-
,  

 ( ) ,  
. 

                                      iii VCn ,, . 
-

 ,1  ,2,  
 V1  V2, ,  
                                  22,11, VCVC . 

, -
 

,  
. , -

,  
. 

 
 1.3 

 0,2  -
 20  (CuSO4),  

 10%,  – 1,11 . 
 

 
1  

 ( ) ) 
1. : 

              4224 )(2 SOKOHCuCuSOKOH . 
2.  CuSO4, -

,  
 CuSO4. 

                                           ,100
4

4

4
,CuSOp

CuSO
CuSO m

m
 

 

                                   ,
100

44

4

,CuSOpCuSO
CuSO

m
m  
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4 4, , 20 1,11 22,2p CuSO p CuSOm V , 

                     
4

10 22,2 2,22 .
100CuSOm  

 

3.  CuSO4, , 

4

4

4

2,22 2,22 0,014 .
64 32 16 4 160

CuSO
CuSO

CuSO

m
n

M
 

4.  ( . . 1 ) -
 ( )  ,  

0,014  CuSO4. 

                                  ,
21

4 KOHCuSO nn
 

 
              

4
2 2 0,014 0,028 .KOH CuSOn n  

5.  ,  
0,028 , -

. 

,
,KOHp

KOH
M V

n
KOH

 

 

,
0,028 0,14 140 .
0,2

KOH

KOH
p KOH

M

nV
C

 

:  20  10%  CuSO4  
140  0,2  . 

 
 

2  
) 

 
-

. 
1.  CuSO4  

 10%.  
    1.1.  CuSO4, . 

                 
$ 4, , 20 1,11 22,2 .p CuSO p CuSOm V  
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1.2.  CuSO4 -
. 

           4 4

4

, 10 22,2 2,22 .
100 100

CuSO p CuSO
CuSO

m
m  

1.3.  CuSO4,  
. 

  ,
4

4

4
,

,
CuSO

CuSO
CuSO M

m
n  

 

4

4

4

,
64 32 16 4 160 80 / .

2 1 2
CuSO

CuSO
CuSO

M
Z

 

 

                       
4,

2,22 0,028 .
80CuSOn  

1.4.  CuSO4 

             4

4

,
,

4 ,

0,028 1,4 / .
0,02

CuSO
H CuSO

p CuSO

n
V

 

2.   
 

         , , 0,2 1 0,2 / .H M KOHKOH KOH
C C Z  

3.  ,  
20  CuSO4 

   ,
4,

4
,,, CuSOpCuSOKOHpKOH

VCVC  

 

         
4, ,

4
,

,

1,4 0,02 0,14 140 .
0,2

p CuSOCuSO
p KOH

KOH

C V
V

C
 

:  20  10%  CuSO4  
140  0,2  . 

 
1.2.  

 1.  (  = ……,  = ……) 
 ( . 1).  
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 1 
 1 

  -
  

 
,  

 
 

1 Na2CO3 0,5M 1,05 (%);  C ;  Cm;  T 
2 HClO4 6 % 1,04 C ;  Cm;  T;  CM 

3 H2SO4 0,45H 1,14 Cm;  T;  CM;  
42SOHN  

4 NiCl2 0,16M 1,02 ;  C ;  Cm;  T 
5 HCl 3H 1,05 Cm;  T;  CM;  (%) 
6 H2SO4 15 % 1,10 Cm;  C ;  CM;  

42SOHN  
7 Na2S2O3 1,4H 1,08 Cm;  T;  CM;  (%) 
8 H2SO4 2,2H 1,07 Cm;  T;  CM;  

42SOHN  
9 ZnCl2 0,8M 1,08 ;  C ;  Cm;  T 
10 H3PO4 3,1H 1,05 Cm;  T;  CM;  (%) 
11 Na2CO3 2 % 1,02 C ;  Cm;  T;  CM 
12 H2SO4 1,1M 1,07 ;  C ;  Cm;  T 
13 KOH 0,2H 1,09 Cm;  T;  CM;  (%) 
14 BaCl2 2 % 1,02 C ;  Cm;  T;  CM 
15 CH3COOH 9 % 1,01 CM;  C ;  Cm;  T 
16 ZnCl2 1,6H 1,08 Cm;  T;  CM;  

2ZnClN  
17 NaOH 2,8M 1,11 C ;  Cm;  (%) ;  T 
18 HCl 20 % 1,10 C ;  Cm;  T;  CM 
19 CH3COOH 2,7H 1,02 CM;  ;  Cm;  T 
20 FeCl2 2H 1,08 Cm;  T;  CM; 

2FeClN  
21 FeCl3 4,4H 1,18 CM;  ;  Cm;  T 
22 CaCl2 0,9M 1,08 C ;  Cm;  (%) ;  T 
23 H3PO4 12 % 1,06 C ;  Cm;  T;  CM 
24 ZnSO4 2 % 1,02 Cm;  C ;  CM;  

4ZnSON  
25 Fe2(SO4)3 0,27M 1,08 ;  C ;  Cm;  T 
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 2.  ( -
 = ……;  = ……) -

, -
 (  = ……;  = ……; 

 = ……) ( . 2). 
 2 

 2 
 

 
  

 -
 

, 
 

 
 

-
 

,  
 

1 FeCl3 40% 1,42 500  4,4H 1,18 
2 H3PO4 39  1,61 500  12% 1,06 
3 Fe2(SO4)3 1,5  1,20 100  0,27M 1,08 
4 ZnCl2 8,35  1,42 3,0  0,8M 1,08 
5 Na2S2O3 3,5  1,38 250  1,4H 1,08 
6 HCl 34% 1,17 250  3H 1,05 
7 H2SO4 1,6  1,09 20  0,45H 1,01 
8 Na2CO3 14% 1,14 500  0,5M 1,05 
9 CH3COOH 80% 1,07 0,4  2,7H 1,02 

10 NaOH 18  1,51 20  2,8M 1,11 
11 CH3COOH 10,6  1,06 250  9% 1,01 
12 KOH 50 % 1,51 20  0,2H 1,09 
13 Na2CO3 1,76  1,17 0,5  2% 1,02 
14 CaCl2 40% 1,40 0,25  0,9M 1,08 
15 ZnSO4 30% 1,38 10  2% 1,02 
16 H3PO4 60% 1,43 2,0  3,1H 1,05 
17 H2SO4 80% 1,73 0,5  2,2H 1,07 
18 H2SO4 20  1,54 300  15% 1,10 
19 NiCl2 30% 1,35 5,0  0,16M 1,02 
20 HClO4 3,6  1,20 0,25  6% 1,04 
21 FeCl2 4,75  1,43 200  2H 1,08 
22 HCl 11,6  1,18 5,0  20% 1,10 
23 KOH 26% 1,25 5,0  1,6H 1,08 
24 BaCl2 26% 1,28 100  2% 1,02 
25 H2SO4 28  1,73 250  1,1M 1,07 
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 3.  (  = ……; -
 = ……)  

 = …..;  = …..;  = ……) 
. 3). 

 3 
 3 

-
 

  
 -

 
,  

 

 , 

 

-
 

,  

 
1 aCl2 2M - AgNO3 25 20 % 1,01 
2 FeCl3 10 % 1,08 NaOH 50 0,4  - 
3 CuSO4 10 % 1,11 2S 10 0,1  - 
4 aJ2 0,2  - Pb(CH3COO)2 10 20 % 1,17 
5 Cd(NO3)2 0,2H - Na2S 20 2 % 1,02 
6 Cr2(SO4)3 0,2H - Pb(CH3COO)2 25 10 % 1,08 
7 uCl2 0,4M - KOH 20 11 % 1,10 
8 KOH 3,4 % 1,33 H2SO4 25 0,1H - 
9 BaCl2 2M - K2SO4 50 2 % 1,01 
10 Ca(OH)2 2,6 % 1,02 HCl 10 0,2H - 
11 NaOH 2H - H2SO4 15 20 % 1,14 
12 NaCl 25 % 1,19 Pb(CH3COO)2 15 4M - 
13 Ca(OH)2 0,1H - H2SO4 10 5 % 1,03 
14 Cu(NO3)2 0,5H - KOH 20 11 % 1,10 
15 NaOH 20 % 1,22 H2SO4 12 0,1H - 
16 Fe2(SO4)3 0,1H - KOH 10 15,2 % 1,14 
17 Na2S 10 % 1,11 FeSO4 15 20 % 1,21 
18 MgCl2 20 % 1,17 Pb(NO3)2 50 0,1H - 
19 KOH 10 % 1,09 H2SO4 20 0,1H - 
20 KCl 3H - AgNO3 30 10 % 1,09 
21 CuSO4 0,2M - KOH 25 9 % 1,08 
22 Na2CO3 10 % 1,1 BaCl2 50 2 % 1,02 
23 K2S 0,5H - FeCl3 20 2 % 1,01 
24 SrCl2 10 % 1,09 AgNO3 15 2H - 
25 Al2(SO4)3 0,1H - BaCl2 25 10 % 1,09 
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2.  
 

-
.  ,  

-
-

.  
,  

-
. -

 
. 

 
 : 

- ; 
- ; 
- ; 
- . 

 
 

. 
 

2.1.  
 

 
 ( .  

),  
 

. -
 . 

,  
. , -

,  -
 ( ). 

 -
, , 

. 

PB

B

VM
TRm

, 

 m  –   , ; 
 – , ; 
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 – , 3 ; 
R = 8,31 /( * ) ; 

 –  ,  ; 
 – , . 

-
: 

PB

B

VM
TRm 1000

 1000TR ,  

  – , . 
 , -

,  
, -

, . 
 

, . 
 

 2.1 
,  1  72  

,  9,00 105  0 . -
, ,  39,56% , 7,69% 

 52,75% . 
 

 
 

=
mB·103·R·T

(MB·VP) ; 

B=
mB·R·T·103

(VP· ) =
72·8,31·273·103

9·105·1
=181,5 . 

 

 181,49 . 
.  

 ,   x, y, z. 

x:y:z=
39,56

12 :
7,69

1 :
52,75

16 =3,30:7,69:3,30=1:2,3:1. 
 

 2,3 . 
,  

12+2,3+16=30,3 ., -
 6  (81,49 : 30,3 = 6). ,  
 6 14 6. 
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2.2. .  
 

-
-

, . -
, , -

, , 
 
 

 
 : 

, -
, -

. 

SB

B

nn
npppp 010 , 

1 – -
, ; 

      0 – -
, ; 

      n  – , ; 
      nS – , . 

 nB << nS, -
 

S

B

n
npp 0 . 

,  
-

 0 ,  1.  
 = 0 – 1 , -

. 
 

 2.2 
,  25 -

,  2  6 4)2 2)2  500 -
 6 5NH2,  

 6,79 . 
 

( 6 4)2( 2)2=208,22 ; 
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( 6 5 2)=93,13 ; 
 

( ) ( ) =
( ) ( )
( ) ( ) ; 
 

n( 6 5 2)=
m( 6 5 2)
M( 6 5 2). 

 

 ( ) nB -
 ( ) nS 

nB= 
2

208,22 =0,01; 
 

nS= 
500

93,13 =5,37. 
 

 ,  
=6,79· 0,01

5,37
=0,013 . 

 

 
 

1 0 - =6,79 - 0,013=6,78 . 
 

 2.3  
 10 8 -

 6 6 ,  
1,5% . 

 
  

 

0
=

nB

nS
. 

,  
0

=0,015,  
-

 
nB= mB

MB
 nS= mS

MS
. 
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0
=

nB

nS
=

mB·MS

mS·MB
=0,015, 

 
mB

mS
=0,015·

MB

MS
; 

 

MB=M·(C10H8)=128,18 ; 
 

Ms=M·(C6H6)=78,11 . 
 

 mB: 
mB=0,015·MB·

mS

S
=0,015·128,18·

mS

78,11 =0,025·mS. 
 

 

wB=
mB

(mB+mS) =
0,025·mS

0.025·mS+mS
=0,024  2,4%. 

 
 

2.3. .  
 

 
-
 

 tk  
 t3. 

: -
-
 

. 
-

 t  t -
 Cm,  .   

1 : 

mTK CEt , 

mT Ct , 
  Cm – , ; 
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T – , ;  
 (  tk (Tk

0), 
 S  ),  

, -
: 

SK
T H

MTRE
1000

)( 20

; 

 – , K· ;  
 (  t  

(T 0),  S  , 
 

 

S
T H

MTR
1000

)( 20

. 

 
, 
-

, ,  
. 

-
,  

 – . 
 

. , -
 

 (  
), -

. -
 

, . -
. 

 
 2.4  

, -
 1,15  CH3CONH2  150 ? -

 1,86. 
 

 
 



 

25 

m=
mB

MB·ms
. 

  = 59,1 . 

m=
1,15

59,1·0,15 =0,13 . 
, -

 
t · m=1,86·0,13=0,24°. 

 
 2.5  

 10 8 ,  
,  82,5 .  

 80,1 , -
 2,53 

·
. 

 
 

 
t =82,5-80,1=2,4°. 

  100 .  

 ( )  (100- )  
100-
1000

.  

 =128 . 

 t , -
 

t · m=
2,53· ·1000
128·(100- ) =2,4°. 

,  =8%,  – 0,08. 
 
 

2.4.  
 

 4. , -
 V(…)  m (…)  

t (…) ,   (…) .  
,  (…) ( . 4). 
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 4 
 4 

 

-
 
-

-
 

, % t,  
 
-

 V,  

 
-
 

m,  

-
 

 
,  

1 -40,0; -53,3; -6,7 0 250 4,96 251,0 
2 -42,1; -51,5; -6,4 12 625 7,3 83,0 
3 -52,1; -34,8; -13,1 17 200 0,77 202,6 
4 -39,1; -52,2; -8,7 18 200 2,3 297,8 
5 -77,4; N-15,1; -7,53 21 500 1,55 81,0 
6 -20,0; -2,62; N-46,7; -6,66 20 200 0,36 74,6 
7 -40,0; -53,3; -6,7 0 671 16,2 303,9 
8 -39,1; -52,2; -8,76 17 1000 18,4 482,2 
9 -37,5; -50,0; -12,5 27 200 8,0 311,0 
10 -40,0; -53,33; -6,67 17 500 3,0 481,2 
11 -62,1; N-24,1; -13,8 27 600 11,6 415,3 
12 -62,1; -27,55; -10,35 17 200 2,9 602,7 
13 -62,1; N-24,1; -13,8 17 400 11,6 587,5 
14 -38,7; -51,6; -9,7 20 300 6,2 810,4 
15 -11,3; N-13,2; Br-75,5 27 300 10,6 830,7 
16 -53,4; -35,5; -11,1 37 620 9,0 415,3 
17 -92,4; H-7,6 0 325 5,2 699,0 
18 -38,7; -51,6; -9,7 17 580 3,1 207,7 
19 -40,0; N-46,7; -13,3 27 150 3,0 830,7 
20 -54,5; -36,4; -9,1 0 200 4,4 567,3 
21 -60,0; N-28,0; -4,0 17 147 4,6 830,7 
22 -62,1; -27,55; -10,35 27 600 5,8 415,3 
23 -54,6; N-31,8; -13,6 25 300 4,4 413,3 
24 -40,0; -53,3; -6,7 0 1000 36,0 453,8 
25 -39,56; -52,75; -7,69 0 1000 91,0 1134,6 

 
 

 5 
 

-1.  25  3167,2 . 
-

,  500  20  6 12 6. 
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-2.  20  2238,1 . 
 12 22 11  

1000 ,  
15,5 ? 

 

-3. , -
 6,84  12 22 11  45  65 ,  

 24994 . 
 

-4.  30  4242,2 . 
,  

 510  81  3 5 )3? 
 

-5.  1%-  
6 5NH2  6 6  15 ,  

 8 . 
 

-6.  2%-  
(NH2)2  36 . -

 5,94 . 
 

-7.  2 5  19 -
 5,32 . ,  500 -
 12  5,28 . -

. 
 

-8. ,  
 24  584  10  

 28,4 . 
 

-9. ,  34,8 -
,  6,5  6 5)2  450  3 , 

-
 26,7 . 

 

-10.  26  CCl4 
 16,5 . ,  2,182  

100  CCl4  
16,193 . . 

 

-11.  293 -
 22,34 .  3 5 )3 -

 180 ,  133,3 ? 
 

-12.  (%)  6 12 6  
, -

 5% . 
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-13. , -
 0,6  4,56 -

,  1003,7 .  
 101,33 .  

. 
 

-14. -
,  1,1 × 10  100  
 95 .  95  84513 . 

 

-15.  
60  17450 .  
1 ? -

 60  19916 . 
 

-16.  
25  7,815 .  
0,08 ?  

 25  7866 . 
 

-17. -
 30%. -

,  40 -
 619,36 . -
 7375,9 . 

 

-18.  25 , -
 1,25  6 4 2  500  

, -
 7866 . 

 

-19.  25  
30,53 .  200 -

,  3%  
. 

 

-20.  S2  20  
39,73 .  14 10 -

 1000 , -
 0,73 ? 

 

-21.  
38  5623,0 .  1  

? -
 38  6623,0 . 
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-22.  (%)  
6 4)2 )2 ,  

 2% . 
 

-23.  100 -
 100 ,  97,68 ,  

-
 101,33 ? 

 

-24. -
 0,01. , 
 25  7,841 . 

 7,866 . 
 

-25.  10 8  
100  25 ,  1,8%? 

-
 12,8 . 

 
 

 6 
 

-
, . 1. 

 

-1.  20 , -
 100,  150 -

,  84,0 
 85,0 . -

. 
 

-2.  10,0  6 12 6  450  
,  0,1428 .  

 2,0  100 -
 0,1250 . -
. 

 

-3.  6 4 2  
 10,0 ,  
 80 ?  78,3 . 

 

-4. ,  329,3, -
;  300  10 -

. ? 
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-5. -
 1,5  100 .  

 -0,189 . -
? 

 

-6. ,  
,  50  1,5 -

 10 8? 
 

-7.  10%- -
 12 22 11? 

 

-8.  15%-  
 3 8 3? 

 

-9.  6 12 6  
 500 ,  1,5 ? 

 

-10.  20 -
,  81,5 ? -

 80,1 . 
 

-11. ,  6  500 , 
 -0,348 . -

. 
 

-12. , -
 2,0  700 . 

 

-13.  0,3  1000 -
 CS2, -

 0,7 . -
. 

 

-14.  0,15  340  
,  

17,6 . . 
 

-15.  5%-  
10 8 .  80,1 . 

 

-16. -
, , ,  8,5  14 10  200  

,  15,72 . -
 16,65 . 
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-17.  7,29  90 , -
 0,81 .  
? 

 

-18. , -
,  200  

5  14 10? 
 

-19.  2%-  
 3 4N2 ?  

78,3 . 
 

-20.  3,5%- -
 5 5N ? -

 5,5 . 
 

-21. ,  
100  2,3  3)2 ? -

 61,2 . 
 

-22. -
 3 5 )3, ,  

100,39 . 
 

-23.  C6H5 2 -
 10 , -
 0,62 . 

 

-24.  6 16  17   
,  0,461 ? 

 2,16 . 
 

-25.  
12 22 11,  -0,72 . 

 
 

3.  
 
3.1. .   

 
 

-
.  

,  – . 
-
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 . 
,  
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-

, .  
, , -

. 
-

. -
 

. , -
,  

,   
 . 

.  

-
. 

-
: 

- ,  
 

; 
- , -

 
. 

 –   > 30%, 
 –   < 3–5%,  5% <  < 30%,  – 

. 
-

, ,  
, .  

, -
 

.  
 

. ,  

3 3 .  
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.
3

3  

-
 .   -

, -
, . -

: 
 , . 

-
. , -

 H2S : 

: 8

2
,2 109,8,

SH
HSHHSHSH ; 

: 13
2

,
2 103,1,

HS
SHSHHS . 

 
, -

-
. 

 -
  ,  

. 

,
1

2

 

  – , . 
,  

 ( «1),  , ,  
.  

 

.

2
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 -
, , 

. 

.  

-
 , -

 
 

.  
 

 3.1 
 

0,2  +  3 ,  

 
32,  1  7105,4 . 

 
 

1.  
 

.332  

2.  ,    
 

2 3

7
, 34,5 10 1,5 10 0,15%

0,2
. 

3.  

/103,01105,12,0

,1

33
3

3

 

-
 

./103,012,0105,4 37

,3 32  
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 3.2 
 

0,2 ,  3%. 
 

 
-

,  ,  

.108,11032,0 4222
,  

 
3.2. . .  

 
 

-
, ,  

. -
-

. -
, -

. , 
, -

.  
, -

. 
 ( ) –  

. 
 – ,  

, , 
-

,  
. 

 ( ) -
: 

                                      = , 
  – ,  

,  
. 

, -
,   ,  

. 
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 –  –  
, . . ). 

 <1,  .  =1, -
 . -

 
 (~10 – 4 ). 

-
 

                              + + -                                    
,  

                                   .  

 -
.  

 
, .  

, . 
,  

-
. , -

 n m  

                                             mn mn
nm

.
 

,  l 

                                l  , 

 Al2(SO4)3   

                                            5 32
2

4
3 SOAl .

 

-
, ,  

. 
 (  0,1 ) -

, ,  
, ,    

. -
 . 

  –  
, .  
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-
: 

                          25,0 ii z , 
 i – , ; 

       zi – . 
.  ( -

, 1907 .). 
 

.  
-

 ( ) -
 

                             
I

Iz
1

51,0lg 2 . 

-
 0<I<0,1. 

 0,01 
                         Iz 251,0lg . 

-
, -

-
. ,  

,  
. 

 
 3.3 

,  1 -
 0,01  BaCl2  0,1  NaNO3. 

 
 

  
 Ba2+, Cl-, Na+   NO3

-.  
I = 0,5 · ( 2+) ·22 + (Cl-) · 12 + C (Na+) ·12 + C(NO3

-) · 1.2 
,  BaCl2  NaNO3 -

, :  
         2+) = (BaCl2) = 0,01 ; 
         (Cl-) = 2 · (BaCl2) = 0,02  ; 
         C (Na+) =  (NaNO3) = 0,1 ; 
         C(NO3

-) =  (NaNO3) = 0,1 . 
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 I 
I = 0,5·(0,01· 22 + 0,02 · 12 + 0,1 · 12 + 0,1 · 12) = 0,13. 

 
 3.4 

-
,  1  1,6  CoCl2   0,015  Co(NO3)2 . 
 

 
:  

I = 0,5 · ( (Co2+) ·22 + (Cl-) · 12 +  C(NO3
-) · 12). 

: 
1,6  CoCl2   n: 
n = m(CoCl2) / M(CoCl2) = 1,6/ 130 = 0,012 . 

 Co2+  
          0,012 + 0,015 = 0,027 ,  

, 
   (Co2+) = 0,027 ; 
   (Cl-) = 2 · (CoCl2) = 2 · 0,012 = 0,024 ; 
   C(NO3

-) = 2 · (Co(NO3
-)2) = 2 · 0,015 = 0,03 . 

 
I = 0,5 · (0,027 · 22 + 0,024 · 12 + 0,03 · 12) = 0,081. 

 
 

            .
1

51,0lg 2

I
Iz  

 Cl-    NO3
-  

            ;1108,0
081,01

081,0151,0lg 2  

            77,0 .   
 2+ 

            ;4431,0
081,01

081,0251,0lg 2  

            .36,0  
: 

            (Cl-) = )( l · C(Cl-) = 0,77 · 0,024 = 0,018; 
            (NO3

--) = )( 3NO · (NO3
-) = 0,77 · 0,03 = 0,023; 

            (Co2+) = )( 2 · (Co2+) = 0,36 · 0,027 = 0,01. 
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 3.5  
 LaCl3  

0,018  . 
 

  
  

I = 0,5·( (La3+)·32 + (Cl-)·12 )=0,5·(0,018 ·9 + 3 · 0,018 · 1)= 0,108. 
-

 La3+     Cl-
  

 )( 3La = 0,08,            )(Cl  = 0,78. 
: 

       (La3+) =  (La3+) · )( 3La = 0,018 · 0,08 = 0,001; 
        (Cl-) = (Cl-) · )(Cl = 0,054 · 0,78 = 0,042, 

 0,054 – , . 
 LaCl3 

 (LaCl3) =  (La3+) · (Cl-) = 0,001 · (0,042)3 = 7,4 · 10-8. 
 
 

3.3. .  
 

,  
.  

.  – 
, , -

-
. -

 -
 – i. 

-
-

. 
 

,  
. -
.  

-
 ( , -

,  
). 
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T . = i·E  m              . = = i·  m. 
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.
.

.
.... //// tttt . 

, -
-

,  
, .  

                                   

1 ,
1

i
n  

 n – , .  
,  NaNO3 n = 2;  MgCl2 n = 3 .  
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.  
, -

-
,  .  

, -
. ,  

 – -
. , -

, -
 

,  
 . , -

,    
 . 

 – -
. 

  
 (  

) -
.   

, -
. 

. .

.( 1)
t t
t n

     
1 .
1

i
n

 

 
 3.6 
,  0,85  ZnCl2  125 ,  

100,06° .  ZnCl2 , 
,  

 34° , -
 5,318 . 

 
 

-
 

. 100,06 100,00 0,06 .t
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. / / ( ) 0,52 0,85 / (136,3 0,125) 0,026 .m T St E m  
./3,136

2ZnCl

    
. ./ 0,06 / 0,026 2,31.i t t  

 
.655,0)13/()131,2()1/()1( ni  

-

 
. 2,31 1,86 0,85 / (136, 3 0,125) 0, 21 .T mt i K C C

   
.21,021,00t  

-
: 

. / ( ) 2,31 5, 318 0,0062 / (0, 0062 6,9444)
0, 011 ;

B B Sp i p n n n            

nB = 0,85/136,3 = 0,0062 ; 
nS = 125/18 = 6,9444  . 

 
p1 = p0 - p = 5,318 - 0,011 = 5,307 . 
 
 
3.4.  
 

 7. -
 (  = ……)  (…) 

 
(  = ……) . 5). 

 5 
 7 

   
 

 
 

  

1 NH4OH 0,05  OH- 1,8 10-5 

2 HNO2 0,1M NO2
- 4,0 10-4 

3 HBrO 0,3H BrO- 2,0 10-9 
4 HCOOH 0,02H HCOO- 1,7 10-4 
5 HCN 0,06H CN- 7,2 10-10 
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. 5 
   

 
 

 
  

6 CH3COOH 0,03H CH3COO- 1,75 10-5 
7 NH4OH 0,04H OH- 1,8 10-5 
8 HF 0,02H F- 7,2 10-4 
9 CH3COOH 0,04  H+ 1,75 10-5 

10 HNO2 0,01  H+ 4,0 10-4 
11 NH4OH 0,02  NH4

+ 1,8 10-5 
12 HF 0,05H H+ 7,2 10-4 
13 HAsO2 0,05  AsO2

- 5,8 10-10 
14 CH3COOH 0,2  H+ 1,75 10-5 
15 HCOOH 0,05  H+ 1,7 10-4 
16 HNO2 0,02H H+ 4,0 10-4 
17 HJO 0,1M JO- 2,3 10-11 
18 CH3COOH 0,1M CH3COO- 1,75 10-5 
19 HClO 0,05  ClO- 3,0 10-8 
20 HAsO2 0,2H H+ 5,8 10-10 
21 NH4OH 0,1H OH- 1,8 10-5 
22 HJO3 0,1M JO3

- 1,7 10-1 
23 NH4OH 0,06  NH4

+ 1,8 10-5 
24 HCN 0,05H H+ 7,2 10-10 
25 HClO 0,2H H+ 3,0 10-8 

 
 

 8.  1 -
 (  = ……), -

 (  = ……) 
. 6). 

 6 
 8 

   
 

 
 

  
  , % 

1 HF 0,015  20,33 
2 H2CO3 0,1  0,21 
3 HVO3 0,2  1,22 
4 CH3COOH 0,1  1,32 
5 H2SO3  11,83 
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. 6 
   

 
 

 
  
  , % 

6 HBrO 0,002  0,10 
7 HCOOH 0,2  3,00 
8 HCN 0,002  0,05 
9 H3PO4 0,3  26,60 

10 CH3COOH 0,04  2,09 
11 H2CO3 0,1  0,30 
12 H3PO4 0,05  37,68 
13 HJO 0,002  0,01 
14 HNO2 0,04  13,13 
15 H2S 0,1  0,14 
16 HF 0,1  7,87 
17 H2SO3  8,37 
18 CH3COOH 0,06  1,70 
19 HVO3  0,04  2,74 
20 HNO2 0,2  5,87 
21 CH3COOH 0,02  2,95 
22 HCN 0,004  0,03 
23 H2CO3 0,02  0,47 
24 HCOOH 0,1  4,24 
25 H2S 0,02  0,22 
 
 

 9. ) -
,  …  (…)  … (…) ( . 7).  

 7 
 9,  

 

-
-
 

 
 

  
 

 -
, 

 
1 0,636  CuSO4  1,76   K2SO4 - 
2 0,03  Pb(NO3)2  0,01  Pb(CH3COO)2 - 
3 1% AgNO3   1,09 
4 0,001  KOH  0,0001  NaOH - 
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. 7 
-

 
 

 
  

 
 -

, 
 

5 20% H2SO4   1,14  
6 0,02  Na3PO4   - 
7 0,01  Ca(NO3)2  0,01  CaCl2 - 
8 2,08  BaCl2  5,85  NaCl - 
9 0,005  Al2(SO4)2   - 
10 4,1  Na3PO4    - 
11 0,1% BaCl2    1,0 
12 0,02  Fe(NO3)3  0,02  Ca(NO3)2 - 
13 0,007  Ba(NO3)2   - 
14 1,49  KCl  8,44  Sr(NO3)2 - 
15 0,42  NaNO3  0,05  CuSO4 - 
16 3,32  KI   - 
17 0,0001  Na3PO4   0,01  Na2SO4 - 
18 0,015  CrCl3  0,003  KCl - 
19 0,02  LaCl3   - 

 
) -

 …,  …  …  ( . 8). 
-

, , . 2. 
 8 

 9,  
 

   
,  

 
 

20 Li2SO4 1000 0,03  
21 Pb(NO3)2 250 0,0125  
22 NaOH 1500 3,0  
23 CoCl3 500 1,1  
24 HNO3 1000 0,3  
25 Cr2(SO4)3 550 0,001  

 
 

 10. ,  …  (…)   …  
 t  =… ° . 

: 
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)  
; 

) ; 
) -

 t = … ° , -
 … ( . 9). 

 9 
 10 

 

-
 

  -
-
 

 0, 
 

,    
,  

-
-

 t1 °C 

, 
t2, °  

1 272,0 ZnCl2 1000 -5,49 99 97,74 
2 9,0 NaCl 100 -5,4 95 84,50 
3 5,0 CaCl2 100 -2,4 85 57,80 
4 10,4 MgCl2 200 -3,1 75 38,54 
5 3,9 CuSO4 500 -0,13 80 43,36 
6 4,5 KCl  300 -0,684 55 15,73 
7 4,9 MgCl2  100 -2,5 50 12,34 
8 12,0 NaCl  200 -3,5 90 70,10 
9 2,1 KOH 250 -0,519 25 3,17 
10 17,4 K2SO4 250 -1,52 97 90,92 
11 17,1 Al2(SO4)3 100 -4,19 40 7,37 
12 0,834 Na2SO4 1000 -0,028 50 12,34 
13 0,0855 H2SO4 500 -0,0054 57 17,30 
14 3,29 K3[Fe(CN)6] 1000 -,062 67 27,33 
15 14,92 KCl  100 -6,8 77 41,87 
16 2,67 NH4Cl 500 -0,344 87 62,48 
17 1,7 ZnCl2 250 -0,23 25 3,17 
18 3,0 NaCl 100 -1,8 20 2,34 
19 1,06 Na2CO3 200 -0,22 30 4,24 
20 10,4 CaCl2 200 -2,6 60 19,92 
21 10,0 H2SO4 90 -5,5 70 31,16 
22 0,44 AlCl3 100 -0,14 25 3,17 
23 0,64 Na2CO3  120 -0,25 90 70,10 
24 0,67 CaCl2 125 -0,22 100 101,32 
25 1,0 AgNO3 50 -0,348 85 57,80 
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4. .  
 

 
 

.  
,  

,33 KNONaClNaNOKCl  

 (  
)  

. 
-

 

,33 NOKClNaNONal  

, -
, .  

. 
 NaNO3 -

 AgNO3,  
: 

,33 NOKAgClNOAgl  

. -
 AgCl . -

, -
,  

. 

AgCllAg . 

 
,  

. -
,  

.   
-

, -
, -

. -
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 ( ) , , 
 – , . 

 
 

4.1.   
 

 
-

: 
1) ; 
2) ,  

 
.  

-
, . 

 : 
: HCl, HBr, HJ, HNO3, HClO3, HClO4, HMnO4, H2SO4; 

:  ( ), . . , -
 (  I  
)  

 II -
), , LiOH, NaOH, KOH, RbOH, 

CsOH, Ca(OH)2, Sr(OH)2, Ba(OH)2; 
: ,  ( , . 3); 

3) -
; 

4) -
. 

 
 4.1 

-
 

NaOH  3 4. 
 

: 
1. -

 
                 3 NaOH + 3 4 = Na3PO4 + 3 H2O. 

2. , -
, , 

: 
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NaOH – , ; 
3 4 – , , -

, ; 
Na3PO4 – ,  ( . , . 3), 

, ; 
H2O – , , -

. 
3. ,  

-
, -

. 

.3333 2
3
443 OHPONaPOHOHNa  

4. -
 

 

.3333 2
3
443 OHPONaPOHOHNa  

5. -
 

.33 2
3
443 OHPOPOHOH  

 
4.2.   

 
 

 
.  

-
,  

. -
: -

, -
, , 

 ( ) .  
 

 4.2 
, -

: 
                               Sr2+ +  SO4

2- = SrSO4 . 
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-

, -
. ,  

. 
 
             Sr2+                +             SO4

2-               = SrSO4 . 
         
         

 
,  

, , : 
                       SrCl2 + Na2SO4 = SrSO4  +  2 NaCl, 
                      Sr(OH)2 + K2SO4 = SrSO4  +  2 KOH, 
                     Sr(NO3)2 + H2SO4  = SrSO4  +  2 HNO3. 

, -
-

, -
. 

 
 

4.3.  
 

 11. -
-

 ( . 10): 1) ……; 
 : 
 : 
 6) …… . 

 
 10 

 11 
-
 

 
 

-
 

  
 

 
 
 
1 

1) Zn(OH)2 + H2SO4 = 
2) (NH4)2 CO3 + BaCl2 = 
3) Ba(OH)2 + N2O5 = 
4) Zn(OH)2 + NaOH = 
5) Ca(H 3)2 + HCl = 
6) Pb(NO3)2 + H2S = 

 
 
 

5 

1) K2S + Co(NO3)2 = 
2) NH4OH + HBr = 
3) Pb(OH)2 +KOH = 
4) K2HPO4 + KOH = 
5) Pb(OH)2 + HNO3 = 
6) NiSO4 + BaCl2 = 
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  . 10 
-
 

 
 

-
 

   
 

 
 
 
2 

1) BaS + Fe2(SO4)3 = 
2) K2CO3 + H2SO4 = 
3) NH4OH + HNO3 = 
4)  Be(OH)2 + HCl = 
5) NaH 3 + Ca(OH)2 = 
6) Cr(OH)3 + NaOH = 

 
 
 

6 

1) (CuOH)2 3 + HCl = 
2) CO2 + NaOH = 
3) H2S + Hg(NO3)2 = 
4) Zn(OH)2 + KOH = 
5) CoSO4 + Ba(NO3)2= 
6) Zn(OH)2 + H2SO4 = 

 
 
 
3 

1) Ba(NO3)2 + Al2(SO4)3= 
2) Na2HPO4 + NaOH = 
3) Cr(OH)3 + H2SO4 = 
4) NH4OH + HCl = 
5) Cr(OH)3 + KOH = 
6) H2CO3 + AlCl3 = 

 
 
 

7 

1) ZnS + H2SO4 = 
2) MnCl2 + NaOH = 
3) Fe(OH)3 + H2SO4 = 
4) Na2CO3 + CH3COOH = 
5) Al(OH)3 + KOH = 
6) FeOHCl2 + HCl = 

 
 
 
4 

1) Na2SO3 + BaCl2 = 
2) FeCl3 + K2CO3 = 
3) Na2HPO4 + H3PO4 = 
4) Sn(OH)2 + HCl = 
5) NH4OH + H2SO4 = 
6) Cu(NO3)2 + Na2S = 

 
 
 

8 

1) BaSO3 + HCl = 
2) K2CO3 + CH3COOH = 
3) Na2S + Zn(NO3)2 = 
4) Sn(OH)2 + H2SO4 = 
5) Sn(OH)2 + NaOH = 
6) Pb(NO3)2 + K2CO3 = 

 
 
 
9 

1) Cr(OH)3 + H2SO4 = 
2) Cr(OH)3 + KOH = 
3) NaOH + SO3 = 
4) ZnCO3 + HCl = 
5) CoCl2 + (NH4)2 S= 
6) Hg(NO3)2 + H2S = 

 
 
 

13 

1) Ba(OH)2 + CH3COOH = 
2) H2CO3 + AlCl3 = 
3) Fe2(SO4)3 + BaCl2 = 
4) Al(OH)3 + KOH = 
5) FeCO3 + H2SO4 = 
6) Mn(NO3)2 + Ca(OH)2 = 

 
 
 

10 

1) (CuOH)2 3 + H2SO4= 
2) BaSO3 + HCl = 
3) FeCl3 + NaOH = 
4) Sn(OH)2 + H2SO4 = 
5) Sn(OH)2 + KOH = 
6) Na2HPO4 + NaOH = 

 
 
 

14 

1) CaCO3 + HNO3 = 
2) CH3COONa + HCl = 
3) Pb(NO3)2 + H2S = 
4) AgNO3 + CaCl2 = 
5) Sn(OH)2 + NaOH = 
6) 2SO3 + HCl = 
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  . 10 
-
 

 
 

-
 

   
 

 
 
 

11 

1) Al(OH)3 + NaOH = 
2) CaCO3 + HCl = 
3) K2SO3 + BaCl2 = 
4) Na2S + CuSO4 = 
5) H2CO3 + KOH = 
6) FeSO4 + K2CO3 = 

 
 
 

15 

1) H2S + SnCl2 = 
2) Pb(OH)2 + NaOH = 
3) CrCl3 + NaOH = 
4) H2SO4 + BaCl2 = 
5) Zn(OH)2 + KOH = 
6) CuSO4 + NaCl = 

 
 
 

12 

1) PbCO3 + HNO3 = 
2) NH4Cl + AgNO3 = 
3) CuSO4 + ZnCl2 = 
4) Fe(OH)3 + H2SO4 = 
5) Zn(OH)2 + NaOH = 
6) H2S + Pb(NO3)2 = 

 
 
 

16 

1) FeCO3 + HCl = 
2) BaCl2 + Pb(NO3)2 = 
3) Pb(NO3)2 + K2CO3 = 
4) Cr(OH)3 + NaOH = 
5) Sn(OH)2 + HCl = 
6) Sn(NO3)2 + H2S = 

 
 
 

17 

1) Fe2S3 + HCl = 
2) Zn(NO3)2 + K2CO3 = 
3) CoSO4 + K2S = 
4) Sn(OH)2 + H2SO4 = 
5) Fe2(SO4)3 + NaOH = 
6) Sn(OH)2 + KOH = 

 
 
 

21 

1) MnSO3 + HCl = 
2) SO2 + NaOH = 
3) K2SiO3 + H2SO4 = 
4) Na3PO4 + FeSO4 = 
5) Sb(OH)3 + H2SO4 = 
6) Sb(OH)3 + NaOH = 

 
 
 

18 

1) FeOHCl2 + NaOH = 
2) Na2CO3 + HCl = 
3) Be(OH)2 + NaOH = 
4) (NH4)3 PO4 + NaOH = 
5) Cu(NO3)2 + Na2S = 
6) K2SO3 + BaCl2 = 

 
 
 

22 

1) KHSO3 + HCl = 
2) SO2 + KOH = 
3) CaS + HCl = 
4) Sb(NO3)3 + H2S = 
5) As(OH)3 + H2SO4 = 
6) As(OH)3 + NaOH = 

 
 
 

19 

1) FeCl3 + CuSO4 = 
2) Pb(OH)2 + NaOH = 
3) Fe(OH)3 + H2SO4 = 
4) BaCl2 + AgNO3 = 
5) Pb(NO3)2 + NaJ = 
6) (CuOH)2 3 + HCl = 

 
 
 

23 

1) SrS + HCl = 
2) Ni(OH)2 + H2SO4 = 
3) Al(OH)3 + NaOH = 
4) AgNO3 + KCl = 
5) MgOHCl + NaOH = 
6) NaHCO3 + HCl = 
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  . 10 
-
 

 
 

-
 

   
 

 
 
 

20 

1) CH3COOH + K2CO3 = 
2) Al(OH)3 + NaOH = 
3) NaOH + CO2 = 
4) CuCl2 + NaOH = 
5) Al(OH)3 + H2SO4 = 
6) K2S + ZnSO4 = 

 
 
 

24 

1) Fe2(CO3)3 + HCl = 
2) H2S +AgNO3 = 
3) Pb(OH)2 + HNO3 = 
4) Pb(OH)2 + NaOH = 
5) SO3 + Ca(OH)2 = 
6) MgOHCl + KOH = 

 
25 

1) CO2 + NaOH = 
2) Cr2(SO3)3 + HCl = 
3) Ga(OH)3 + NaOH = 

4) Ga(OH)3 + H2SO4 = 
5) Mn(NO3)2 + Ca(OH)2 = 
6) FeSO4 + K2CO3 = 

 
 

 12.  
 ( . 11): 

 
 11 

 12 

-   
         

 

-  
 

 
         

 

 
1 

1) S2- + 2 H+ = H2S 
2) MgOH+ + H+ = Mg2+ + H2O 
3) CH3COO-+H+ = CH3COOH 

 
8 

1) Al(OH)3+OH- = AlO2
-+2H2O 

2) H+ + OH- = H2O 
3) Ca2+ + CO3

2- = CaCO3 
 

2 
1) H+ + OH- = H2O 
2) Fe3+ + 3 OH- = Fe(OH)3 

3) Pb2+ + SO3
2- = PbSO3 

 
9 

1) Mn2+ + CO3
2- = MnCO3 

2) H2PO4
-+ OH- =H2PO4

2-+H2O 
3) Al(OH)3 +3H+ = Al3+ + 3H2O 

 
3 

1) Ba2+ + CO3
2- = BaCO3 

2) NO2
- +  H+ = HNO2 

3) NH4
+ + OH- = NH3 + H2O 

 
10 

1) CO3
2- + 2 H+ = CO2 + H2O 

2) Fe(OH)2+ + H+ =Fe3+ + H2O 
3) HCO3

- + OH- = CO3
2- + H2O 

 
4 

1) Fe(OH)2+ + 2OH- = Fe(OH)3 
2) Pb2+ + 2 J- = PbJ2 
3) Zn2+ + S2- = ZnS 

 
11 

1) Zn2+ + 2 OH- = Zn(OH)2 
2) Sb(OH)2+ + H+ = Sb3+ +H2O 
3) 2 Bi3+ + 3 S2- = Bi2S3 
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. 11 
-   

         
 

-  
 

 
         

 

 
5 

1) Cu2+ + H2S = CuS+ 2 H+ 
2) Cr3+ + 3 OH- = Cr(OH)3 

3) CO3
2-+ 2 H+ = CO2 + H2O 

 
12 

1)CaCO3+2H+=Ca2++CO2+H2O 
2) H2PO4

-+2OH- =PO4
3- +2H2O 

3) Pb2+ + 2 Cl- = PbCl2 
 

6 
1) 2 Fe3+ + 3 S2- = Fe2S3 

2) H+ + OH- = H2O 
3) Cr(OH)2

+ +2H+ =Cr3++2H2O 

 
13 

1) FeCO3 +2H+ = Fe2+ + H2CO3 

2) 2 OH-  + Sn2+  = Sn(OH)2 
3) NH4

+ + OH- = NH3 + H2O 
 

7 
1) SiO3

2- + 2 H+ = H2SiO3 
2) CN- + H+ = HCN 
3) Fe3+ + 3 OH- = Fe(OH)3 

 
14 

1) Cu2+ + S2- = CuS 
2) Ba2+ + CO3

2- = BaCO3 

3) H+ + OH- = H2O 
15 1) Al(OH)3 +3H+ = Al3+ + 3H2O 

2) S2- + 2 H+ = H2S 
3) H+ + OH- = H2O 

20 1) NH4
+ + OH- = NH3 + H2O 

2) Cu2+ + S2- = CuS 
3) Pb2+ + SO3

2- = PbSO3 
16 1) 2 Fe3+ + 3 S2- = Fe2S3 

2) H2PO4
-+2OH-  =PO4

3- +2H2O 
3) Al(OH)3+OH- = AlO2

-+ 2H2O 

21 1) Cr3+ + 3 OH- = Cr(OH)3 
2) H+ + OH- = H2O 
3) Al(OH)2+ + H+ =Al3+ + H2O 

17 1) H+ + NO2
- = HNO2 

2) 2 OH- + Be2+ = Be(OH)2 
3) 2 Bi3+ + 3 S2- = Bi2S3 

22 1) Cr(OH)2
+ +2H+ = Cr3+ +2H2O 

2) Pb2+ + 2 Cl- = PbCl2 
3) H+ + OH- = H2O 

18 1) H+ + CN- = HCN 
2) Al3+ + 3 OH-  = Al(OH)3  
3) CO3

2-+ 2 H+ = CO2 + H2O 

23 1) Sn2+ + 2 OH-= Sn(OH)2 
2) H+ + CN- = HCN 
3) Al(OH)3 +3H+ = Al3+ + 3H2O 

19 1) SiO3
2- + 2 H+ = H2SiO3 

2) HCO3
- +OH- = CO3

2- + H2O 
3) Cu2+ + H2S = CuS+ 2 H+ 

24 1) H2PO4
-+2OH-  =PO4

3- +2H2O 
2) H+ + OH- = H2O 
3) Ba2+ + CO3

2- = BaCO3 
25 1) 2 Bi3+ + 3 S2- = Bi2S3 

2) CO3
2- + 2 H+ = H2CO3 

3) Cr(OH)2
+ +2H+ = Cr3+ +2H2O 
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5. . 
  

 
,  

 

OHHOH 2 . 

 25  
 

16

2

108,1
][

][][
OH
OHHK ,  

 [ +], [ -], [ 2 ] –  +, - 
, . 

 
-

 ( )/,18/1000
22 COH OH  

, , -
 

WK1416 10
18

1000108,1  , 

                                       ][][ OHHKW .                                     (*) 
 
 

,  25°  10-14. -
  WK . 

-
 . 

 
 pH -

 pOH 
]lg[HpH  ]lg[OHpOH . 

 ][][ OHH . 
 (*), ,  

14pOHpH . 

 710][][ OHH  . 
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 7pH . 
 7pH . 

 7pH . 
 

5.1.  
 

 pH  
. 

 pH  
14pOHpH ,  OH  

 H . 
 

 pH  
][H . 

 
 5.1 

 pH  pOH  10-3    HCl. 
 

 
; 

, 310][H ,  

                               11
3

1414

10
10
10

][
10][
H

OH  ; 

3lg[ ] lg[10 ] 3;pH H  

1110lg]lg[ 11OHpOH . 
 

5.2.  H  OH  
 

 
 5.2 

 H   OH  ,  
pH  12. 

 
 

]lg[HpH ; 12]lg[ pHH ; 
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12]lg[H .  ,  1210][H . 

 OH  

2
12

1414

10
10
1010

H
OH  . 

 
5.3.  pH  

 
 pH   

]lg[HpH  14 lg[ ].WpH pOH pK OH  

 H   OH  
,  

. 
-

, , 
                                 OHFeOHOHFe 2)(  (1-  ); 

                                      OHFeFeOH 2       (2-  ). 
. 
 

 

)1/(0
2K   1  

0

2

K , 

 0 – , . 
 pH  1- -

. 
 

 5.3 
 pH 0,002  32COH . 

 
 
 1-  

332 HCOHCOH  ,  7
1, 1045,4K . 
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 H   
:  -

 . 
1  

 32COH  

  ), , 
 

CHCOH ][][ 3 , 

-
 

][ 32COH  = 0,002  . 

 1, ,  

7

32

3
1, 104,4

)002,0(][
][][

COH
HCOH

 

                       7
2

104,4
002,0

. 

 ,  
5103][H . 

     52,4]103lg[]lg[ 5HpH . 

2  
 4

1, 10 ,   
 

237

0

1, 1049,1102/1045,4 . 

, ][][ 3HCOH  
 1-  

32COH .   

00

][H . 
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532
0 1098,21021049,1][H 5103 . 

                       52,4103lg 5pH . 

 pH,  
-

 – . 
 

 5.4 
 2HNO -

 pH 2,7. 
 

 
 – , -

. 

22 NOHHNO . 

, -
 H   2NO .  

 pH  2,7, -
 

7,2
2 10][][ NOH . 

 
 10-2,7 . 

 x -
, , 

,  
  

)10(][ 7,2
2 xHNO , 

7,2
2 10][][ NOH . 

 
 

][
][][

2

2
, 2 HNO

NOH
HNO . 

 
2,HNO  
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)10(
1010106,4 7,2

7,27,2
4

x
, 

 00214,0x . 

,  2HNO  
0,00214 . 

 
 

5.4.  
 

 13.  pH ,  …. ( . 12). 
 12 

 13 

-
 

  

 -
  -

   

1 HJ 0,001  H2SO3 0,001  - 1,7 10-2 

2 H2SO4 T=0,00049 
 

H2CO3 0,002  - 4,5 10-7 

3 HCl 0,01  HNO2 0,04  0,1 - 
4 NaOH 0,001  HCOH 0,02  - 1,7 10-4 

5 HCl T=0,000365 
 

H2C2O4 0,5  23,3 % - 

6 Ba(OH)2 T=0,000171 
 

HF 0,01  - 7,2 10-4 

7 HNO3 0,001  NH4OH 0,005  - 1,8 10-5 

8 H2SO4 0,05  HCN 0,01  2,8 10-4 - 
9 Ca(OH)2 0,05  CH3COOH 0,01  - 1,8 10-5 
10 NaOH 0,01  NH4OH 0,5  - 1,8 10-5 
11 HNO3 0,00135  

500 -
 

HF - 10 % 6,6 10-4 

12 Sr(OH)2 0,005  H2CO3 0,15  0,173 %  
13 H2SO4 0,001225   

 250 
 

CH3COOH - 3 % 1,8 10-5 

14 LiOH 0,001 M HJO3 0,1 M - 1,7 10-1 
15 Ca(OH)2 0,005 M H2S 0,1 M 1,05 10-3 - 
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. 12 

-
 

  

 -
  -

   

16  H2SO4 0,05 M HNO2 0,01 M - 46,6 10-4 
17 H2SO4 0,001 M NH4OH 0,002  10 % - 
18 NaOH 0,016  

NaOH    
400 -

 

HBrO 0,3  - 2 10-9 

19 NaOH 0,01  H2C2O4 0,5  9 % - 
20 HBr 0,01  H3BO3 0,05  - 5,8 10-10 

21 RbOH 0,03  HBrO 0,01  - 2,1 10-9 

22 H2SO4 0,01  H2SiO3 0,1  - 2,2 10-10 

23 HCl 0,05  H2Se 0,001 - 1,7 10-4 

24 Ba(OH)2 0,05  H2TeO3 0,5 - 3 10-3 

25 Ca(OH)2 0,01  H3BO3 0,1 - 5,8 10-10 
 

 14.  (….) ,  pH 
 (…) ( . 13). 

 13 
 14 

   pH 

1 M HCl 1,0 

2 [H+]  [OH-] NaOH 10,0 

3 M KOH 13,0 

4 M HNO3 3,0 

5 M NaOH 9,0 

6 [H+]  [OH-] Ca(OH)2 9,0 

7 M HNO3 2,0 

8 M Ba(OH)2 10,0 

9 M  [H+] H2SO4 3,0 

10 [OH-]    [H+] Ba(OH)2 11,0 
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. 13 
   pH 

11 [H+]  [OH-] HBr 2,0 

12 M HJ 3,0 

13 [OH-] LiOH 9,0 

14 [H+]  [OH-] HCl 5,5 

15 M H2SO4 2,0 

16  HClO4 3,0 

17  Sr(OH)2 10,0 

18 [H+] HNO3 2,0 

19 [OH-] NH4OH 13,0 

20 M KOH 13,0 

21 [H+] H2SO4 2,0 

22 M HClO3 1,0 

23  H2SO4 2,0 

24 [H+]  [OH-] NaOH 11,0 

25 [OH-] Ba(OH)2 10,0 
 
 

6.  
 

6.1. .  
 

 – : -
,  

.  
, ,  -

. 
 – -
.  

. , 
, ,  

 
. -
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-
 – ,  

. 
-

, . -
. -

, . 
 

 – .  
 

OHKClKOHHCl 2 , 

, . -
 ( ).  

, -
, . -

,  
-

, . , 
. ,  

 
, . -

,  ( -
)  ( )  

 OH  H . 
-

 H  ( -
 OH )  OH  (  H ), -

. 
 

. -
, : 

-  (  2CoCl ); 
-  (  32SiONa ); 
-  (  SNH 24 ). 
 

 . 
1. , -

,  . 
,  ClNH 4 : 
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-  OHNH4  ( ); 
-  HCl  ( ). 

 4NH  
 Cl  

.ClNHClNH 44  

, .  
 4NH , -

. 

    7,44 pHHOHNHHOHNH . 

 
 ( 7pH ). 

-
-

, . 

HClOHNHOHClNH 424 . 

. 
, ,  

, . -
,  4CuSO , : 

-  2)(OHCu  ( , -
); 

-  42SOH ). 
 

2
4

2
4 SOCuCuSO . 

: 

1 : 7,2 pHHCuOHHOHCu . 
 

 
-

 2
4SO . 
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7,)(22 424224 pHSOHSOCuOHOHCuSO . 

2 : -
 – CuOH : 

7,)( 2 pHHOHCuHOHCuOH . 

422242 )()( SOHOHCuOHSOCuOH . 
 

. 
,  

-
. 

 
2. , -

,  . 
,  NaCN : 

-  NaOH  ( ); 
-  HCN  ( ). 

 

CNNaNaCN . 
, . 

7, pHOHHCNHOHCN . 

-
 Na  

NaOHHCNOHNaCN 2 . 

 OH , , -
 7pH . 

 
. 

,  SNa2 : 
-  NaOH  ( ); 
-  SH2  ( ,  

). 
 

2
2 2 SNaSNa . 
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: 
 
1 :  – 

 

7,2 pHOHHSHOHS , 

 

NaOHNaHSHOHSNa2 . 

2 : -
 – HS  

7,2 pHOHSHHOHHS , 

 

NaOHSHOHNaHS 22 . 

-
, ,  – -

. . 
,  

-
. 

, -
, -

. 
 
3. , -

, , .  
 

. 
-
 

, , ,  
. , -

 

OHNHCOOHCHOHCOOCHNH 43234 . 

-
 510761

3
,COOHCHK  51079,1

4OHNHK .   
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-
 COOCHNH 34 . 

 

4 2 4 ,NH CN H O NH OH HCN  

 
101027,HCNK ,  

. ,  

4HCOONH ,  

OHNHHCOOHOHHCOONH 424 , 

, -
 

( 4108,1K ) . 
, , -

, -
. -

-
, -

. 
, , -

, , -
 

SHOHAlOHSAl 23232 326 . 

. 
, -

,  NaCl , ,  
 (  = 7). 

 
6.2.  

 

-
 h  K . 

 h – -
, -

 C  
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C
h . 

. -
,  – 

 – .  
-

. 
  - -

 w -
  

w

K
K

K . 

,  

OHCOOHCHHOHCOOCH 33  

 

OHCOOCH
OHCOOHCH

K
23

3 . 

, -
 .C a ) 

-
,  

K
COOCH

OHCOOHCH
OHK

3

3
2 , 

. -
-

. -
,  

-
.  

 K  H ,  
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HCOOCH
HOHCOOHCH

K
3

3 . 

 H wKOH , COOHCHK
COOHCH

HCOOCH
3

3

3 , 

  
COOHCH

w

K
KK

3

. 

 K  
. 

-
 

OHCOOHCHOHCOOCH 323  

 h  ,  
,  

,hcOHCOOCH 3   chCOOCH 13 . 

, 
 

).1/(/ 2 hchKKK w  

 1h ,  

chK 2 . 

,  
c

Kh . 

,   
. 

 chK 2 -
 

cKchOH . 

,  ca ,  
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cKKgcKgOHgpOH w . 

 pH  

cKgpOHpKpH w 14 . 

,   
-
-

. 
. 14  hK ,  pH  

. 
 14 

 ( K ), 

 h  
 

 
K  h  

 
, 

) 
-

  

 )KKw  cK  cKchOH  

 )KKw  cK  cKchH  

 
)()(

WK   
cK  

)(

)(WK
H  

)K  - ; 

)K  - . 
-

,   
. , -

 ( ), -
. , , -

.  
, -

, -
.  H  
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 OH , -
-

, -
. 

 
, -

, . -
, -

,  
. 

 
 6.1 

 hK ,  pH  0,5  3AlCl ,  
 1- . 

 
 

. 
 1-  

7,23 pHHAlOHHOHAl . 

 
. 14. 

 
6914

Al(OH) , , 1025,7)1038,1/(10/
3

KKK w . 

 K ,  
 h  

316
0 1081,31051025,7CKh . 

, -
, . 

 
33

0
2 1091,15,01081,3hCAlOHH . 

: 6,21091,1 3gHgpH . 
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 6.2 
 pH,FeCl3  

 3,  1- . 
 

  
 3FeCl  

3
3 3 .FeCl Fe Cl  

 0C . -
-

 0C  3Fe ,  

HFeOHHOHFe 33  (1- ). 

 -
 2FeOH .  CHFeOH 2  

 Fe3+ 

CC0
3Fe . 

 1-  

3
0

33

0
3

2

10
1010

1 CCC
CC

Fe
HFeOHK . 

 
3)1214

Fe(OH) 3, , 104,71035,110
31

KKK w . 

 0C , -

 3
0 10141

3
,)( FeClC . 

 
6.3.  

 
. 15 

.   (…) ?  
-

,  pH  (>7, <7, =7). 
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.  
 (…). ,  

 pH  C . 
,  

. 15).  
, . 4. 

 15 

 15 

 
-
-
-
 

  

  

C  
- 
 
 

1 NaClO  2SnJ  42SORb  32SONa  0,03 

2 42 HPONa  23 )( NORb  ClONH 4  32BONa  0,02 

3 32SOLi  3AlCl  324 CONH )(  SK2  0,04 

4 KCN  2ZnJ  23COOCHCu  23 )( NORb  0,06 

5 2HSCa  4NiSO  42CrONa  342 SOAl  0,02 

6 43PONa  2MnBr  SNH 24 )(  2NaNO  0,03 

7 23COOCHCa
 342 SOFe  32SAl  HCOOLi  0,009 

8 42WONa  23NOCu  
23COOCHPb

 32SiONa  0,07 

9 SRb2  424 SONH  4NaJO  32SOK  0,08 

10 32SiOK  33NOBi  4HCOONH  424 SONH  0,05 
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7.   

 –   
».  

 
 

-
 ( , ), -

, . . 
 – , -

. 
-

:  
-  ( ) ,  

 (  
); 
- , ,  

, , 
, -

. 
-

 4BaSO , -
. 
2 2

4 4 .BaSO Ba SO    
                                            

 
-
-

. 
 
 

7.1.   
 

 
, -

  10 -2 , . , 
 AgCl , 3CaCO , . 

-
. -

. 



 

75 

  -
. 

 m – -
,  

 

V
mCm , 

 m – , ; 
      V – , . 

. 
 S – -

 ( ),  
 

MV
mS , 

 m – , ; 
       – , ; 
      V – , . 

. 
-

, , -
 ( , -

),  
 (  

),  
 ( ), 

-
-

. 
 
 

7.2.   
 

 
 ( )  

 – , -
 ( ) -

, -
.  
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,  
 S < 10 -2  . 

-
. 

)  4BaSO  
.  

, -
 4BaSO , -

 

2
4

`2
4 )(

SOBaBaSO ). 

                                         
 – . -

-
.    

2
4

`2
4

SOBaBaSO . 

 10101,1
4BaSO . 

                                                  
) -

 243 )(POBa   
2 3

3 4 2 4( ) 3 2 ;Ba PO Ba PO  

3 4 2

3 22` 3
( ) 4 .Ba PO Ba PO  

 39
)( 106

243 POBa . 

 
  

 – -
 4BaSO . 

 

constSOBaBaSO
2
4

`2
4

,  constT . 
 

 2Ba  2
4SO  

-
, , 
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4
2
4

`2 BaSOSOBa  ( ). 

 2Ba  2
4SO  

 ( ) (  –  
)  . 

-
 2Ba  2

4SO  
,  

 

SBa2 ; SSO2
4 ;  

222
4

`2 SCSOBa , 

 C  – 4BaSO . 
 4BaSO . 

 -
 ,  

 

SBa2 ;  SSO2
4 ;  

22
4

`2 SSOBa , 

. . , 
 S  

.  
 

SBa 2 ; SSO 2
4 ;  

22
4

`2 SSOBa . 
, : -

, -
 ( ) ,  

 ( ) . 
-

, . 
-

,  
. 
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7.3.   
 

 
 7.1 

-
 2)(OHg ,  500  
 1,55·10 -2   . 

 
 

 – . 
 

OHMgOHMg 2)( 2
2 . 

 
22

)( ][][
2

OHMgOHMg , 

 ][ 2Mg  ][OH  –  

 2Mg  OH  
.  

-
 S,  

SMg ][ 2 ,  SOH 2][ , 

 
 2)(OHMg  2Mg  

 OH .  
32

2
4)2( SSSOHMg . 

 S  
 

42 103,5)5,0320,58/(1055,1S ,   

  58,320  – ; 
       0,5                 – . 

,  
1034

)( 1001,6)103,5(4
2OHMg . 
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 7.2 
-

 ][ 2Pb  ][J  

 2PbJ , -

 9101,1
2PbJ . 

 
 

 

JPbPbJ 22
2 . 

  
22 ]][[

2
JPbPbJ . 

,   
SPb ][ 2  SJ 2][ , 

 S –  2PbJ , ; 
 

32 4)2(
2

SSSPbJ . 

   

43
9

32 105,6
4
101,1

4
][PbS , 

34 103,1105,62][2 JS . 
 

, -
, , . -

. 
, -

, -
,  

, . -
. 

 
) -

-
 (  

). -
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 ( ) -
 ( ). 

7.4.  
 16. , 

-
 ( . 16). 

 16 
 16 

-
   

 
1 AgCl 1,33 10-5  
2 PbCrO4 4,4 10-5  
3 NH4MgPO4 8,6 10-3  
4 Mg(OH)2 7,98 10-3  600  H2O 
5 Pb(OH)2  = 0,133 % (  = 1 ) 
6 Pb3(PO4)2 1,02 10-6  PO4

3- 

7 Ag2CrO4 0,011  Ag2CrO4  500  H2O 
8 MgCO3 6,67 10-2  
9 Pb3(PO4)2 1,2 10-6  
10 PbF2 0,515  Pb2+ 
11 FeS 6 10-10  Fe2+ 

12 MgF2 0,001  
13 Fe(OH)2 1,9 10-10  
14 Ag3PO4 0,0065  
15 AgBrO3 0,35  200   H2O 
16 PbJ2 0,204  PbJ2  300  
17 Fe(OH)2 0,5 10-5  

18 PbSO4 
 6  

0,186  
19 AgBr 1 10-5 /100  H2O 
20 Zn(OH)2 2,2 10-5 /100  H2O 
21 Co(OH)2 0,4 10-5  
22 PbCl2 10,58  
23 CoS 5 10-10 /100  H2O 



 

81 

24 Cu(OH)2 3,84 10-9  
25 SrCO3 0,059 /100  H2O 

 17. ) , , -
  ( . 17). 

 
 17 

 17,  

-
   

1 PbSO4 1,7 10-8 
2 Ag2CO3 5,0 10-12 

3 AgCl 1,4 10-4  100 ) 
4 Mg3(PO4)2  10  3  Mg3(PO4)2 
5 CaCO3 4,4 10-9 
6 Ag3PO4 1,8 10-18 
7 Pb3(PO4)2 1,5 10-32 

8 Fe(OH)3 6,3 10-38 

9 NiS 2 10-28 

10 BaSO4 1,8 10-10 

 
 

)  (….)  
,   ( . 18). 

 18 
 17,  

-
    

11 Ca2+   PO4
3- 1 10-25 Ca3(PO4)2 

12 Pb2+  J- 8,7 10-9 PbJ2 
13 Ag+  J- 8,3 10-17 AgJ 
14 Ag+  C2O4

-2 5 10-12 Ag2C2O4 

15 [Hg2]2+  Cl- 1,5 10-18 Hg2Cl2 

16 Ca2+  F- 3,2 10-11 CaF2 

17 Al3+  OH- 1,9 10-33 Al(OH)3 

18 Cd2+  CO3
2- 2,5 10-14 CdCO3 
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)  (  = ...). 
 

 (V = … ) ? ( . 19). 

 19 
 17,  

-
   B  V 

19 CaSO4 9,1 10-6 Ca2+ 300  
20 Cu2S 2,0 10-47 Cu+ 200  
21 Mg(OH)2 3,2 10-11 OH- 1  
22 Ag3AsO4 1,0 10-22 Ag+ 0,5  
23 Ag2Cr2O7 2 10-7 Cr2O7

2- 100  
24 CaC2O4 2,3 10-9 C2O4

2- 1  
25 MnS 1,1 10-13 Mn2+ 400  
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 1 
 ( )  ( )  

 
 

 , 
 

, 
 

 5,87 3,22 
 5,12 2,53 

 1,86 0,52 
 1,73  

 40,0 6,09 
 4,9 3,63 

 2,98 5,3 
 - 3,89 

 
 

 2 
-

 
 

 
  

 

 

1-  2-  3-  4-  

10-3 0,96 0,86 0,73 0,56 
10-3 0,95 0,81 0,64 0,45 
10-3 0,92 0,72 0,52 0,30 
10-2 0,89 0,63 0,39 0,19 
10-2 0,87 0,57 0,28 0,12 
10-2 0,81 0,44 0,15 0,04 
0,1 0,78 0,33 0,08 0,01 
0,2 0,70 0,24 0,04 0,003 
0,3 0,66    
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 3 
 

               
 

 - 

LiOH, NaOH, KOH, 
RbOH, CsOH, 

Ca(OH)2, Sr(OH)2, 
Ba(OH)2 

 

 NO3
- 

  
 ClO4

- 

 CH3COO- 

 ClO3
- 

 Cl - ,  AgCl, PbCl2, 
CuCl2,Hg2Cl2 

 Br -  AgBr, PbBr2 

 J -  AgJ, PbJ2 

 SO4
2-  Ag2SO4, PbSO4, 

BaSO4, SrSO4, 

 S2- (NH4)2S, K2S, Na2S, 
BaS, SrS, CaS  

 SO3
2- (NH4)2SO3, K2SO3, 

Na2SO3 
 

 O3
2- (NH4)2 O3, K2 O3, 

Na2 O3 
 

 O4
3- (NH4)3 O4, K3 O4, 

Na3 O4 
 

 SiO3
2- (NH4)2SiO3, K2SiO3, 

Na2SiO3 
 

 CrO4
2- (NH4)2 rO4, K2 rO4, 

Na2 rO4 
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 4 
 (  = 298 ) 

   

 
2HNO  5,1  10-4 

 
42MoOH  1 = 2,9  10-3 

2 = 1,4  10-4 
 

43 AsOH  1 = 5,6  10-3 
2 = 1,7  10-7 
3 = 2,9  10-12 

 HF  6,6  10-4 

 HSCN  1,4  10-1 

 
32SOH  1 = 1,4  10-2 

2 = 6,2  10-3 
 SH2  1 = 1,0  10-7 

2 = 2,5  10-13 
 

32COH  1 = 4,5  10-7 
2 = 4,7  10-11 

 
43POH  1 = 7,3  10-3 

2 = 6,2  10-8 
3 = 5,0  10-13 

 HClO  3,0  10-8 

 
 HCOOH  1,8  10-4 

 
 COOHCH3  1,7  10-5 

 
 

422 OCH  2 = 5,4  10-5 

 
33BOH  1 = 5,8  10-10 

2 = 1,8  10-13 
3 = 1,6  10-14 

 SeH 2  1 = 1,1  10-7 
2 = 1,0  10-14 
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. 4 

   

 
32SiOH  1 = 2,2  10-10 

2 = 1,6  10-12 
 

) 
HCN  7,9  10-2 

 OHNH4  1,8  10-5 

 
3OHAl  3 = 1,38  10-9 

 
2OHBe  2 = 5,0  10-11 

 
2OHCd  2 = 5,0  10-3 

 (II) 
2OHCu  2 = 3,4  10-7 

 (II) 
2OHNi  2 = 2,5  10-5 

 (II) 
2OHPb  1 = 9,9  10-4 

2 = 3,0  10-8 
 (III) 

3OHCr  3 = 1,02  10-10 

 
2OHZn  2 = 4,0  10-5 

 (III) 
3OHFe  2 = 1,82  10-11 

3 = 1,35  10-12 
 (II) 

2OHFe  2 = 1,3  10-4 

 (II) 
2OHNi  2 = 2,5  10-5 

 (II) 
2OHMn  2 = 5  10-4 

 303 ) 
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